BAMAKLIIR XW—1500—M $=1:20
(BH5 7TERENEEREEL - AETRICEICAED GL+0m 12Hk5)

2000

2000

fR#& t=1.6

/ (SGMH4904E#1)

LATSAVFK
t=3.0
(ZPILZHEBESHR

N\

N JLET ] $=1:3
RRSAE b ERET

2000

2000

A EBN M8 x 65 (W{)

2y Ul 9 o
Qw 8 8
2-hRAfiE: t=1.6
2-#t# t=0.8
R4 t=1.6
(SGMHA90£1)
I (KIRTAT) I
| A |
GL+0m %’- : - . 20
/ ! [STK500] [STK500] / ! ° g |
:\l/ $50.8x2.3 ¢50.8x2.3 ! &>
| —1

iy (#3RAY) (f3RAY) iy

—— )y

600
\

SIS SIS

0400

ERET R

RETRIE - - - BBAMS 7ERNEDNEERERL - AETHICE
DLRAEAITIKRS,

HEEEHY - - - RYFAMAH 98k N/ (10t./m)

5=
1. HEFILATSA Y FERBR MK, &E8R - 7L - <5
FUDLEEDH - ED LETHRMEBIENAREE LT B,
BL., ALk - Fv MIBERERD>ETOLHEHEEEL
BLET B,

(39 FEUT Y F]

A EBN M8 x 30 (W{)

[Fv hEUF Y k]

FAEBN M8 x 25 (W{)

\ [+ ~EUF Y F]

\

IR # b T [ $=1:1

35

L

—\

=

37

1.6

232300143

2024. 03




